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2-1.2  i-v Characteristics of ldeal Resistor

Bosed on the resulls of his experiments on the noture of

comduction in circuils, German physicist Georg Simon Ohm

(1TRT-1854) fowmulated in 1826 the - relationship for a

resistor, which b Olm's v, He i 4

hal the voltage v scross a resistor 15 direclly proporiional (o
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An ideal linear resivior is one whose resistance K is constant vei ;

and indep the g m 5
i, it whiich case its i=u response is o straight line (Fig, 2-4(a)). Af=R 4k
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Flgure 2-4: i-ur responses of ideal and real pesisions.
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» A common convention is to assign a positive “+" sign
10 & current if it is entering the node and a negative “="
sign il it is leaving il. =
re
For the node in Fig. 2-9, the sum of currents entering the node /r
is
hh—ih—is+i=0, (2.9)

where currents i) and iy were assigned positive signs because )rf
they are labeled in the figure as entering the node, and iz and iy
were assigned negative signs because they are leaving the node. | l
MR
» Alternatively, the sum ol currents Ie:nring a node is -
zero, in which case we assign a “+" 1o a current leaving A ‘-L}.
the node anda ™10 a currenl entering it. <
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